Chapter 3. Compound Interest (Using Formula)

Exercise 3(A)

Solution 1:
Given: P= Rs12,000; n=3years and r=5%
r 3
Amount= P 1+L = 12000 1+ i
100 100

3
= 12000 (EJ
20
=H513,891.50 Ans.

.. Cl.=R513,891.50- Rs12,000
= Rs1,891.50 Ans.

Solution 2:
Given : P= Rs15,000; n=2years; r{=8% and rp =10%

amount=P| 14+ 2 |[ 142 |-15,000[1+ = |[1+ 2
100" " 100 100)l" " 100

_15,000{ 22 |[ 12
25110

=Rs17,820 Ans.

Solution 3:

Given : P=Rs6,000; n= 3years; ri= 5%; r;= 8% and r3 =10%

I I I
A =Pl 1+ |1+ 2|1+ 2
= [ 10@][ ¥ 1@@][ ¥ 100]
=&, 000 1+i 1+i 1+£
100l " 100\ " 100
_eo00| 21 |[22]( 1L
20125110

=Rs7,484.40
.. Cl.= Rs7,484.40 - Rs5,000 = Rs1,484.40 Ans.




Solution 4:

Given : Amount= Rs5445: n= 2vears and r = 10%

n
AP+
100

16
= 5445=P |1+ 12
[ 100]

z2
= 5,445= P [EJ
10

10
= P=5, 445 [HJ =Rs54.500 Ans.

Solution 5:
Given: C.l.=Rs788.75; n= 2years and r = 5%

.
CA=Pl1+ T
100

L A-P=Cl

= 15 b pe768.75
A00

= _41 P =Rs768.75
400

= = Rs7/, 500 Ans,

P=Rs ?68.?45 x 400



Solution 6:

Given: Cl.=REs1,655; n= 3years and r = 10%

n
CA=P|1+_
100

3
= A=P| 1+ —10
100

:}.-‘«=|:-[£] _1,331,

10 1,000
CA-P=ClI
1,331 .
= mp P=Rs1,655
3321 e
= mp =Hs1,655
= p=Rs 2223100 _po5 000 Ans.
B34
Solution 7:

Given: Amount =Rs%,856; n=2years; rq =10% and r; =12%

ﬁxmount=l3'[1+ ﬁ] [1+ 1[][]]

=9 856 =P 1+—|[1+
[ moJ 100}

o3

_.,.9,856x10x25
= P=Rs =2 22 - Rs8,000

Ans.
Solution 8:
F I
A=Plly 1|1+ 2
100 100
u]

10 15
= (P +4240) = [1 + IDD] [1+ IDDJ

= (P + 4240) = P (1.265)
= P = 16000

The sum is ¥ 16,000



Solution 9:

N
A=Pl1e——
100

z2
— 6,615 =6,000]1+——
100

r ¥ 6,615
=1+ =
100 6,000
r 21
=1+—=—
100 20
=r=5%

At 5% per annum the sum of Rs.6,000 amounts to Rs.6,615 in 2 years when the interest
is compounded annually.

Solution 10:
Let Rs.x and Rs.y be the money invested by Pramod and Rohit respectively such that
they will get the same sum on attaining the age of 25 years.
Pramod will attain the age of 25 years after 25 - 16 = 9 years
Rohit will attain the age of 25 years after 25 -18 = 7 years
Let Principal=Rsy
Then Amount= Rs 1.44y
n=2years

i
CoA=P[ 1+
100

z
= 1. ddy = y[1+LJ

100
2
¢ﬂ={1+L]
Y 100
2
:}*E= ] g
25 100

~(&) -(r155)

Jn comparing,

& r

2 —

5 100

On solving, we get
ro= 20%

Pramod and Rohit should invest in 400:441 ratio respectively such that they will get the
same sum on attaining the age of 25 years.



Solution 11:

Given: P=Rs 4,000, CL =Rs 1,324 and n = 3 years
Mow, A =FP+1
= A=Rs(4000+1,324)=Rs. 5324

3
A=Pl1+
100

3
= 5324 = 4000[ 1+
100

2
2324 _fy,
4000 100

3
1331 r
~ 1000 - [“ ﬁ}

_fy, Ry _1331_(11Y
100) 1000 |10

r 11
il 100 10
roo11 o,
100 10 ~ 10
100 .
=r= 100 - 10%
Thus, the rate of interest is 10%.
Solution 12:

Given: P=Rs5,000: A=Rs6,272 and n= 2vears
(i)

i
Coa=Pl1+_
100

z2
=6,272="5000[1+__
100

_ 6,272 rY
LA
5 000 100

2
:}E_ 1+L
G5 100

2 2
25 r

== =|1+—
[ESJ [ : 100}

On comparing

28 r

= ooy

25 100

On solving, we get

r=12%

(ii) Amount at the third yez

]
-5 ooo[1+£]

100

28
= 5,000
&l

= Rs7,024.64



Solution 13:
Given: P=Rs7,000: A=Rs9,317 and r= 10%

n
L A=P[1+
100
10
:9,31?=?,DDD(1+ﬁj
9317 (11}
~3,000 [ﬁ}
n
o 1381 fif
1000 (10

~ (i) - (5]

{Jn comparing

N = 3years

Solution 14:
Given : P=Rs4,000; C.1.=Rs4630.50 and r=5%

roy"
- CIl=FPl|l1+—]| -1
[ 100,

.
= 630,50 =4 000 [1 + —J - 1i|

£30, 50 21y
= =||=| -1
4, 000 20

n
_ 1,261 21 4
2,000

_ 1261 EAR A
8 000

_ 5,261
e 000

- [ﬁ] - [ﬁ]n

{Jn comparing

c.l

)

n = 3years



Solution 15:

Let shareof A=Rsy

share of B = Rs (28,730 -y)

rate of interest= 10%

According to question

Amount of & in 3years= Amount of B in Syears

10 Y 10
:‘fy(1+ﬁJ =(28,?30—yj(1+ﬁJ

=y = (28,730 y)[ 14— 2
Y ; Y oy

121
= y=23 730 - yj(mJ
= 100y=121{28, 730 - v)
= 100y +121y=121x 28,730
= 221y=121x 28,730

- 121x 28,730

221
Therefore share of A=Rs15,730
Share of B=Rs28,730-Rs 15,730=Rs13,000

Solution 16:

- Rs15,730

[ilLet share of John=Rsy

share of Smith = Rs (44,200 - y)

rate of interest= 10%

According to question

Amount of John in 4years= Amount of Smithin 2years

g z
:’””f{HEJ =[44,2DD—yj[1+£J
L 100 100
:>y{1+£]2 = (44, 200 - )
L 100
1Y
=y EJ =44, 200 - v)

s,
= 121y=100{44, 200 - y)
= 121y=100x 44,200 - 100y
= 121y+100y=100% 44,200
= 221y=100% 44, 200
_ 100x 44,200

- Rs20,000
221

=Y

Therefore share of John=Rs20,000
Share of Smith=Rs44,200- Rs 20,000=Rs24.200
[iiJArmount that each will receive

4
10
- 20,000[1+ ==
’ [’LmDJ

a4
11
= 20,000 —

- Rs29,282



Solution 17:
(i1 I=Rs 6000, T=2vears and R = 10%
[x100  6000x 100

L FP= =
BT 10x 2

- Rs. 30,000

(i) P=Rs 30,000 n=23vyears and r = 10%

r n
.&.—P(1+ ﬁ]

10y
= 3@00@[1 + ﬁ]

c
= BDDDD{HJ
10

11 11 11
=3DDDDKEKEXE
- Rs. 39,930
(iii) CI. earned in 3 vears = A -F =Rs (39 930- 30, 000) = Rs. 930

Solution 18:

Given: P =Fs BO00, R =5%, T==2years
For simple interest,
PxR =T
100
. B,000xE5 =2

100
= F.s 300

For compound interest,

n
AP+
100

z
A =18, 000 1+i
100

=1 o=

000 20k B
20 20

=Rs5.8,820

ClL=~A-F
= Rs (8,820 -8,000)
= Fs 520
Mow, CI - 51 =Rs (B20-800)=Rs 20
Thus, the difference between the compound interest and
the simple interestis Rs 20,



Exercise 3(B)

Solution 1:

Let principal (P) =x
R=8%
T=2vears

wx 8xE  dx
100 25

sl=

- 8 2

Given, Cl =51 = 54,40

104 4=

525 25
[1[]4 £ 25

— =Rs554.40

625 25 25
El

54.40
[625]

_ 54,40 %625
B 4
x =Rz 2500

] 54,40

Thus, principalsum = Rs. 8500



Solution 2:

[for 2 years) A = Rs. 19360
T =2vears
LetP=X

R T 1)
X1+ —| =19360~1)
100

A (for 4 years) = Rs. 23425.60

F 4 Y
X[14—=| =23425.60-2)
100

2) . (1)
(1, R °  23425.60
100 19360
(1 R ° 2342560
100] 1936000
RV 14641
14| =
100 ~ 12100
R _[2)
100 (110
R 121
et = TEET
t100 " 110
AT =3
100 110
R = 10%

0 10
Form{1)w[14 == | =19360
100

v = 19560 x 10x 10
11=11
x = Rs 16000

Thus, sum = Rs. 146000



Solution 3:

Let principal =%, A=3x, T=8 years,R="7
Casel,

-
R
A=Pl1l4+—
[+1DD]
&
F.
3% = x|l 4+ —
[+1EJD]
4 R
38 =14 L1
+1DD ()

Case |l
P=xA=2xT=7

)
R
27% = x| 14 ——
. x[ +1EJD]
1/ R
25T =14+ —— B
+1CID ()

From (1) and (2) 3}»% _ 2?%_
1

3}5 — 38 =%

T==24

Time = 24 years.



Solution 4:

P =Rs 9430
R=5%
R =10 vyears

|- 9430x5x 10
100

=Rs5.4715

Let sum =%
Cl=4715,T = 2 years, Rs=5%
Cl=AP

. r T
4?15—xr1—|—i2—x
N 100
z
21
4715 = x||=| -1
(&
4715 = x| 34— 400
400
X = @ — Rs.46,000

Thus principal from = Rs. 44,000



Solution 5:
Let principal = Rs. 100, R = 5% T = 2 years
For Kamal,§1= 100x5x2

=Rs10
100

-
For Anand, n _ p[1+ i]

100
z
5
—100|1 4+ ——
[+1EJD]
_iopx =l 2t
20" 20
_ a4l
4

C|=ﬂ_1gg=ﬂ
7 7

Difference of Cl and Sl = ﬂ —10

_ 41— 40
A

=F?LS.l
4

When difference is Rs. l , then principal = Rs. 100
gl
If difference is 1, principal = 100 . 4

If difference is Rs, 15, principal = 100 ., 4 .. 15 = Rs. 6000



Solution 6:
51 = Rs. 450
R=4%

R =2 years
P=7

P =1x100 4350100

= = RsE&ZE
FoxT w2

Now, P = 5625,R = 4%, T = 2 years

2 2
A=s5ea5/14 | —s625/25
100 55
_ 3802500 .
& 25
Solution 7:

Let principal (P), R =4%, T =4 vyears

o] — Fxdxd f
100 T 25
3
cl=pl1+ 2 |_p=p|ci| _1|=p|220L _
100 20 2000
_ 1261,
2000
Givensl-;Cl=Rs. 228
4 1261
EE"SDDDP"EES
4x320P - 1261 _ o
2000
15P = 228 % 8000
pzzggﬁﬁg?ngzzgaggggg

Thus, Principal = Rs. 26000

:



Solution 8:

Cl=Rs 2446, R=5%,T =2 years
Cl=A-P

_~ 5 2
246 =P|14+-—=—| —P
+1DD]

2
21
246 =P|| 22| -1

246 = p 2L
400
246 400

B 41

=Rz 2400

P

Mow, P = Rs. 2400 R =6%. T = 3 years
2400x6x3
Sl=—
100
=Rs 432



Solution 9:

Let the sum (principle) = x
Given Amount = 23400, R =10% and T = 3 years

X x10x3 _ 3%

= nterest | =
100 10
Amount = Principle + Interest
X
234{1[}:}(4‘ 10
x = 18000

Principle = 18000
Mow,

Principle ="18000, r = 10% and n = 2 years

A=plds-L
100

’ 2
A=180001+ EJ
" 100

”11]2
A= 18000] 22
10

¢
ﬁ=ummJEﬂJ

L 100
A= 21780

The amount of the same sum in 2 years and at 10% p.a. compound interestis 21780.



Solution 10:
For the payment of Rs, 12,600 at the end of first yvear:
A=Rs 12600 n=1vearand r = 5%

Mow, & =P 1+
100

5 1

=12 600=P[1+ =
[ mo]

21

= 12,600=P| ==

=P = %x 12,600=Rs 12, 000

For the payment of Rs, 17,640 at the end of second vear:
A =Rs 17,640 n=2 vears and r = 5%

Mow, & =P 1+ 1
100

c 2
=17,640=F|1+ —
100

2
= 17,640 = P[E]
20

F= ﬁxgx 17,640 =Rs 16,000

L sum borrowed = Rs, (12,000 + 16, 000) = Rs, 28, 000

Exercise 3(C)

Solution 1:

Given: P=Rs7,400; r=5% p.a. and n= 1lyear
Since the interest is compounded half-yearly,

mx2
Then A=P |1+
[ 2% ch

5 1«2
=?’4DD[1+2:<1[]DJ

z
41
=7, 400 ==

= Rs7,774.63




Solution 2:

[[MWhen interest is compounded yvearly

Given: P=Rs10,000; n=18months= 1—;vear and r=10%p.a.

For 1vear

Foy 10} 11%
A=P1+ L | —10000[1+ = | = 10,000 22| = Rs11,000
[ moJ [ mo} [m}

Forl/2 vear
P=Rs11,000;n= 1/2 year and r=10%

2 n#e Exz 51 1
A=P| 1+ _11000(1. 19 |2 =1i000==
2% 100 ! 2% 100 20

- Rs11,550

. C.l=Rs11,550-Rs10,000= Rs1,550
[ii)When interest is compounded half-yvearly

P=Rs10,000; n= 1—;year and r=10%p.a.

r nx2 3.2
A=P|1 10 32
{+2meJ - 10,0001+ 525
3
=1D,DDD{EJ
20

=Rs11,576.25
~ Cl1=Rs11,576.25-Rs10,000=Rs1,576.25

- Difference between both C.l.=Rs1.576.25-Rs1,550
= Rs26.25 Ans.



Solution 3:

For the first 2 years

o1 o PxN=R
100
S - 16,000 =<2 =20
100

= 5.1 =6,400

Amount=5I1.+ P
= Amount = 6,400 + 146,000
= amount = 22, 400

Amount in the account at the end of the two years is 322,400,

For the remaining one year

r Me 2
b=P|l4—r0
2 x100

2
=4 =22,400(1+ 20
200
2
= & = 22,400| 1L
10
= A = 27,104

The total amount to be paid at the end of the three years is327,104.



Solution 4:

N2
g=plie—"
2 x 100

3.2
=
= 27,783 =P l+£
200

3

= 27,783 = F‘{EJ
20

2
= P=27,783 el
21

= P = 24,000

The sum of 24,000 amount T27,783 in one and a half years at 10% per annum compounded half yearly.

Solution 5:

(i)Eor Ashok{interest is compounded yearly)

Let P=Rs yv; n=18months= 1—1 yvear and r=20%p.a.

For 1vear

m 1
r 20 5
Eplis ] m{1422] =2
[ : 100} y[ * m[:J [5}”

Forl/2 year
&
P=FHsz [EJ v =Y year and r=20%

n=z i
r =2 &5
A=p[1+_" | _..(8 20 )2 =Rs[—]
[ +2meJ ‘RS[E]‘-"[“MDGJ 50,

[ii)For Geetalinterest is compounded half-yearly)

P=Rsvy:n= 1% vear and r=20%p.a.

n=2 332 11 3
A=P|1s " iy, 20 EFofil
2x100) Y'Y o900 10
_ps 1,331 y
1, 000
According to question

[1’ 331] (T [@] w=Rs332

1,000 50
= 2 w= Rs33

1, 000
Ly pe33XLO00 o o

.. Money invested by each person=Rs.3,000 Ans.



Solution 6:

r 2
CI=P||1+ -1
[[ lenn] }

2
= 5,100 = 62,500 1+L -1
200

{ r JE 67,600
= |1+ =

200 62,500
r 260
=1+ —=—
200 2E0
=r =48

The rate of interest is 8%.
Solution 7:

Given: P=Rs1,500; C.1.=Rs494.50 and r=20%
Since interest is compounded semi-annually

e
y = A -
Then C.I. p[[1+2x1DD] 1}

n= 2
:5496.5D=1,5E]D[[1+ ED] —1}

2% 100

2n
_ 49650 (1),
1500 |10

2N
= Bl e 11
1, 000
1331
llileD

() =[%T”

Cn comparing, we get

2n=3 = r‘|=1%years Ans.



Solution 8:

Given: P=Rs 3,500; r=6% and n= 3years
Since interest is being compounded half-yearly

n=z
— r -
Then C.I.—F’[(1+ 5> llleJ 1}

6 Fnd
- 3,500| 1 |
’ [ +2x1[][]]

i &
- 3500 (193] 1}
100
(1.03f - 1]
= 3,500[ 1194052 - 1]

= 3,500 % 0, 194052

= Rs679, 12
Ans.

- 3,500

Solution 9:

Ei
_PxRxT _ 12,000x10x =

; . OD— T 1 " - = Gt
Given: P=Rs12,000: n= 15 vears and r= 10% 2 _Rsi,2800
100 100

S

To calculate C.1.
For 1year
P=Rs12,000; n=1vear and r=10%

Foyn 10 Y
A=Pl1+ | =12000[1+—=| =Rs13,200
100 100

For next 1/2 vear
P=Rs13.200:n= 1/2 year and r=10%

1
nx 2 —x 2
A:P[u s ] =13,200[1+ L0 ]2

5 %100
21y

- 13, EDD[_J
20

- Rs13,860

o Cl=Rs13,860- Rs12,000= Rs1,860
. Difference between C.I. and 5.
=R51,8460- Rs1,800=Rs&0 Ans.



Solution 10:

Given: P=Rs12,000; n= 1—; years and r= 10% _ FxRxT

2.1

12,000 x llifl.m-:E

100

To calculate Cl.lcompounded half-vearly)

P=Rs12,000;n= 1—; vears and r=10%

3
n= 2 — 2
A:P[1+ i ] =12J000[1+ e ]2

2 =100 2 =100
3
=12 DDD[E]
20
=Rs12,8291.50

- Cl.=Rs13,891.50 - Rs12,000= Rs1,891.50

. Difference between C.I. and 5.1
=R<51,891.50- Rs1,800=Rs%91.50 Ans.

Exercise 3(D)

Solution 1:

Cost of machine in 2008 = Rs44,000
Depreciation rate=12%
(i} .. Cost of machine at the end of 2009

i

-

-Pl1- —
( moJ

z
12
= 44,000[1- =
: [ mo}

88 Y
— 44, 000 x [ﬁ] — Rs34,073.60 Aris.

{ii) Cost of machine at the beginning of 2007(P])

.
= I D
100

1
= 44,000 = P[1- 12
100

1

23
= 44,000 = P| ==
: [1@0}

= p=234 D%%x 100 _ Rs50,000 Ans

100

- R=1,800



Solution 2:

Let % be the value of the article.

The value of an article decreases for two years at the rate of 10% per year.

The value of the article at the end of the 15t year is
*-10% of x =0.90x

The value of the article at the end of the 2nd vearis
0.90x - 10% of {0.90x) = 0.81x

The value of the article increases in the 370 yvear by 1054,

The value of the article at the end of 379 year is
0.81x+ 10% of (0.81x) =0.8%91x

The value of the article at the end of 3 years is ¥40,095.
0.891x = 40,095

=¥ =45 000

The original value of the article is T45,000.



Solution 3:

Population in 2005(P) = 64,000
Let after nyears its population be 74,088(4)
Growth rate= 5% per annum

:
A=Plls
100

M
= 74,088 = 64,000( 1+ 2
100

-
_, 74088 _ [21}

64,000 \Z0
9261 f[zLY
:e,ooo'{ﬁJ

INEIN i
20) l20
On comparing, we get

N = 3vyears
Ans,

Solution 4:

Let the population in the beginning of 1998 =P
The population at the end of 1999 = 2,85,120(4)
ri=-12%andr,=+8%

A-Pl1- L |l1+ 2
100 100

=2 85,120 = P[1-£][1 S ]

+ —_—
100 100
2 35 120-p[22|[ZZ
25} 25
Lp= 285120x25x25 2 00 0ng ans

22w 2T



Solution 5:

Let sum of money be Rs P and rate of interest=r%
Money after 1year= Rs14,500
Money after 3years=Rs19,245

For Ivear
r n
A=FPl1l+ —
100
r 1
= 16300=P|ley — | ——=—=—=——e — (1)
100
For 3years

n
A=Pl1+
[ mn::J

3
= 10085 =P| fu | ==
100

Divide eq™ (2) by eq™ (1)

3

.
Pl1+—

19,965 [+1E]DJ

16,500 -l
°(1+ 155)

+ —
100
2
121 r
=100 - [“ m}

2 2
= H = 1+L
10 100

On comparing, we get

U, 7 = r-10%Ans.
10 100

Put value of rineq" (1)

16,500 =F 1+£
100

= p=16200x10 _ poi5 000 Ans

11



Solution 6:
Given: P =Rs7.500 and Time(n)= 2years
Let rate of interest = %
Sl = FxRxT 7,500xyx2

= Fs150y
100 100

m 2
ClL=P[l+——]| -P=Rs7,500[1+ 2| -Rs7, 500
100 100

Given: C.l.- 51. =Rs12

z
=7,500[1+ | -7 500-150y=12
100

¥ 2y
:>1500[1+ - ]-1500-150y=12
10000 & 100
z
= 7500+ 229N | 450y - 7,500 - 150y=12
0000
2
= _ s
4
2

=y =16 =y = 4% Ans

Solution 7:

Let Principal be Bs v and rate= r2

According to 1% condition

Amount in 10 years = Rs 3y

n

i
A=p[1+
[ ¥ 100}

r 10
= By=y|1+——
Y v[ +1DDJ

:>3=[1+E1_]m ——————— (1)

According to 2™ condition
Let after n years amount will be Rs 27y

M
A=P[1+_T_
100

n

i
= 27y=y |1+
¢ v{ * 1DDJ

:¢(33=[1+I%6T

Put value from first equation

[l ] - (%)

On comparing, we get
N = 10x 3= S0vears Ans,




Solution 8:
At the end of the two years the amount is

n
so=P|1e
100

2
= a,=F 1+£
100

Mr. Sharma paid ¥19,360 at the end of the second year.
So for the third year the principal is A4 - 19,360.
Also he cleared the debt by paying $31,944 at the end of the third year.

n
.
bo=Pl1+—
100
2 1
= 31,044 = |p[1+ 22| 19,360 |[14+ 22
100 100
2
10
= 20040 = |P|[1+_—| - 19,360
100

2
—pf1+ 22| - 4g, 400
100

= P = 40,000

Mr. Sharma borrowed 340,000.



Solution 9:

Let sum of money be RSy

To calculate S.1.

S.I.=pxRxT _ ¥ l[jxl:F{Sl
100 100 10

To calculate C.lL{compounded half-yearly)

n=2
— r- — —

& -

I
P
32
L

~

= ¥ _15=y =Rs6,000  Ans.
400

Solution 10:

9 7
K 1+—5 = 1+—5
100 100
K

. i}
——
¥
1+—5
100
¥ 400
Yy 441

Exercise 3(E)

10
2% 100

JIKE

i



Solution 1:

15t case

Given: 5.0, = Rs 450:Time= 2 years and Rate = 4%
[ =100 450100
RxT 4 %2
211 case{compounded half-yearly)
P=35,625n=1yearandr=4%

nxz 4 1x2
J = 5,625 [1 + J

Principal = = Rs. 5625

2= 100

A=Pl1+
2 %100

2
= 5,625 2 = Rs, EBLE2 .25
=0

C.l. =5,852.25 - 5,625 = Rs, 227.25

Solution 2:

: . 1
Given: P =Rs 10,800, Time = anearS and Rate= 10%p.a

For 2vears
z

i
s=pl1+——| =10,800{1+22) —Rsi3,088
100 100

Faor ¥ year
1

ez —uZ
_13,088]1+—2 |
2 %100

a=pPl1+—
2 % 100

= 13,068« % = 13,721.40 = Rs.13721{nearest rupes)

- ¥13,721 -710,800 =32,921



Solution 3:

(i) Present value of machine(P) = ¥97,200
Depreciation rate = 102

n
o Walue of machine after 2 years = P {1 - LJ

i
97,200 [1 B ll—D]

2
a7,200| 2
10

== 708732
(ii) Present value of machine(A) =397,200
Depreciation rate = 10% and time = 2 years
To calculate the cost 2 vears ago

r n
A=pl1- —
{ 100}

2
=97, 200= P 1—£
140
g 2
=97,200= P|—
10

107
— P =Rs, Q?JEDDK{?J - 1,20,000

Solution 4:

Let the sum of money lent by both Ty
For Anuj
P =3y rate = 8% and time = 2 years
S = PxR=T yxB8x2 4
. 100 100 25

For Rajesh
P =3y ;rate = 8% and time = 2 years

n 2
c.I,zp[[“;] _1]=y{[1+i] 1]%
100 100 G5

Given: C.I. -T64

s S, (T
625 25

= W _sas oy = PP 010,000 Interest received by anuj = 2712990 g 1600
625 4 25

Interest received by Rajesh= 104> 10,000 Rz 1664

25



Solution 5:

Given: Principal =¥4,715:time = 5 yvears and rate= 5% p.a.
FxRxT  4715x5=b

Sl = =1,178.75%
100 100
ThenC.l.=31,178.75x4=34,715
Time = 2 years and rate = 5%
r M
CI =P|{1l+—| -1
100
5 2
= 4715 =PFP[[1l+—]| -1
100
= 4,715 = P[i]
400
= P = st - Rs. 46,000

Solution 6:

Given: C.I. for the 2™ year =74,950 and rate = 15%

]l
Ther, C.I = P (1+L] —1]

1
— 4,950 =P (1+£] —1]

= 4,050 = p|—
20

4, 950 = 20
]
= F=Rs, 33,000

= F=

Then amount at the end of 2" year= 33,000
For first 2years
A=333,000:r; =10%

A =Pl1+L
100

= 33,000=F 1+£
100
= 33,000=F L
10
— p= 33,000=10 - 30,000

11
The sum invested is $30,000.



Solution 7:

Let the sum of money be Jy
and rate = 10% p.a. compounded half yvearly
For first &months

1
poo AR 10 5 21
2 % 100 2 % 100 20

For first 12 months

L 10 Y r441
4 =P|114+ — =y 1+ — = — |y
2 %100 2 %100 400

Given: The difference between the above amounts = T189

441 21
— - |—|¥ = 189
{4-[”]}rf {EI:IJﬁrf

=21 |y = 180
400

129 400
21

= Y=

y = 3600

Solution 8:
P =386,000;time = 2 years and rate = 5% p.a.
To calculate S.1.

ol = F=xR =T _ Bs, 000 =5 =2

100 100
To calculate C.1.

1l
cl =P|[1+ "] -1
{[ 100] ]
5 2
= 86,000|[1+=—| -1
( 100]

= 86,000 s 2 = REs 8,815
400

= Rs 5,600

Profit=C.l.-5.1.=<8,815-I8,600 =3215



Solution 9:

Let ¥x be the sum of money.
Rate = 5 % p.a. Simple interest = 31,200, n = 3years.

1,200 = o bow 3
100
_12,00,00
B 15
= ¥ = 8,000

The amount due and the compound interest on this sum of money at the same rate and after 2 years.
P =38,000;rate = 5% p.a., n = 3 years

r_I'I
A o= P14+ —
[ IDDJ

5 z
= A = 8,000|1+—
100

= A = B,000(1.1025)
= A = 8,820

CL=#A-P
= ClI = 8,820 - 8,000
= CI = 820

The amount due after 2 years is £8.820 and the compound interest is T820.



Solution 10:

Let %% be the rate of interest.
P=36,000,n=2vyears, A=36,720

i. For the first yvear

r_I'I
A o= Pl1+y—
[ IDDJ

1
—6,720= 6,000|1+——
100

=6, 720-6,000 = 60
=x = 12

The rate of interest is x% = 12%.
ii. The amount at the end of the second vear.

r nl
A = Pl1+ —
{ 100}
12

2
= A= 6,000|1+-——
( 1DDJ

2
= A= £,000 122
100

= 4 = ¥,526.40

The amount at the end of the second year =37,526.40





